Name Date Period
Caculus Test: 2.1to 3.1. No Calculator

Part I: Multiple Choice

,then f'(0)= (A)—é @) 1 (C)% (D)é (E) DNE

1. If f(x):ln‘x+4+e‘3x =

2. Let f bethefunction defined by f(x)=x>+x. If g(x)=f*(x) and g(2)=1, what isthe value of
1 1 7
"(2)? A) — B) — C — D)4 E) 13
9'(2) ()13 ()4 ()4 (D) (B)

3. Find the global max and min of f(x):x3—3x+1 ontheinterval [0,2].

(A) Global max at x=0; Global minat x=1 (B) Globa max at x=2; Global minat x=0
(C) Global max at x=2, x=-1; Global minat x=1 (D) Global max at x=1; Global minat x=1
(E) Global max at x=2; Global minat x=1

4. Thecritical valuesof f(x)=xe ™ are:
(A) x=-1 (B) x=1 (C)x=1L, x=-1 (D) x=0 x=1 (E) Nocritica values

d
5. If f(x)=x?+2x,then —| f (I -
(X) = x* +2x endx[ (nx)]

(A) 2'”)’(‘*2 (B) 2xInx+2  (C) 2Inx+2 (D) 2Inx+§ (E) 2";2
_— Ix®+8 .
6. Thevalue of the derivative of y_m a x=0is
1 1
(A) -1 (B) 3 (©)0 (D) 2 B1
7. %[xe'”xz}: (A) 1+2x (B) x+ x? (C) 3%? (D) x° (E) x*+x°
8. Iimw is
h—0
(A) f'(e),where f(x)=Inx (B) f'(e), where f(x):mTX (C) f'(1), where f(x)=Inx
(D) f'(1), where f(x)=In(x+e) (E) f'(0), where f(x)=Inx

9. The slope of the line tangent to the graph of In(xy): X at the point where x=1is
(A)O (B) 1 (C) e (D) € (E) 1-e
10, 1f £ (x)=(x2+1)", then F'(x)=

(A) x(x2 +1)X_1 (B) 2x2(x2 +1)X_1 © xln(x2 +1)

(D) In(x®+1)+ 2x° (E) (x2+1)x[ln(x2+l)+ 2;‘2 }

X2 +1 X“+1



Part 11: AB Free Response:
11. (1992 AB4/BC1) Consider the curve defined by the equation y+cosy=x+1for 0<y<2p .

(@ Find ﬂ intermsof y.
dx

(b) Write an equation for each vertical tangent to the curve.
2

(c) Find % intermsof y.




